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��!� ���� !� ���!��� ��������  �� ���� ���� ���&�$ � ����!� �� ��� ����� �' ����'��

��� !��� ����� �� �� ��� ��/� ���� $��'��2 	�� ����� �' ����'�� !������ ��� ��� ��/�

���� $��'�� ��� � � �#� �� ��� ���$$��� �������� � ����!� ��� ��� � ����!� �� ���

������� &�$#�� ��#�����2 	�� ���!��� 9 �� ��� �������� ���&�$ � ����!�  � !��� �� �#�

��� ��� � ����!� ��)# ��� ��� ��� ���� � �' ���!����� ��!������ �� ��� ���� � 4�2 	��

���N�!����  � #������ ��� ��� ���� ���� ����� ��� #������ ����� �� ��� ���� !$�S�

��9 ��� � ��2 %�$��� ��� ���!���  � � ��!�� �� ��� ���'�  � 4��� =�� ��$�9 � #���

���! (�� !#��G>0 ��� ��/� ����  � !��� �� �#�  � � � � $�� 9��2

	�� �#$$ ���'� �� ���� !� ���!����� � �#$���� �� "���	:  � ��!#������  � L-+M2

	�� ���� ���� ��$�&��� �� � '� ����'� ���� !� �/��� ����� ��� �#$� �$� �!����� �'0

 �� 4�� ��0 ����������$#�'0 ��� ���� ��� � $�� ��0 ���!������� ��� �� ��0 ������6�&
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��� �� ��0 !�����$ �! �� $$�� ��0 �$��� ! ���  ��$��� ! �!����� �'0 ��� ������$�!�� ! �G�!�0

!��&��� ��0 ��#���� ���������0 ������ ������� ��0 ��� ������ ��� � $�� ��0 �#�� !��I

�#��0 ��� ��!��2

����� +	�&	��
 ��� �������� �� +")��7

	�� ����� ����!��� � �#$�� ��  ��$�������  � ��'#�  � �����'$� ����� �� ���

"���	: ���$6 � 9 �� � ��9 ��� (!�� ���2 �#� !�����$  � ��6�� �9�� ���� ���

"���	: �#� ����'��2 ��'#� !$�����  ���� � ���� "���	: !$����� 9 �� ���� ���I

 (!�� ��2 � �!� ��#��� ����� �#�'�ID#���  ���'��� �� 9�� ������ ��� �$�9 ���  ����I

! �� ��� ����� � �#$�� ��0 ��'#� #��� � � G����� ����� �' ����'�� �� ���!6 ���� !$��

����#'� ��� ����� ��'��� ! (�$�2 	�� ��'#� ������� #��� �����!� ��$ / ��'����� ���

���� ����� ����#'� ��' ��� 9���� ��� (�$� &�� �� ��  � ���$$2 � ��$$�0 �&��� ��!��

����� ��� �#$$� � �#$���� �� ��� �� ���� �&��� '�������� �� ���� "���	: ��!��� ��

���� !$��2�


���!��� !�����#!� ��  � ��'#�  � ����$�� �/!$#� &�$� �� ��� &�$#��0 ����� �$

��� ���� � &� ����!��� !$�����  � "���	:2 ��!� ����!��� �#������� ���$��� � !$���

9 �� � ������ ��� ���� !�����#!� �' ���� �#������� ��� ���� �' ��� ���� !$� ���'�

!#�� ���! (! �� ��� �#�������2 	�� ����� !$��� �# $�� ��� ����� ��0 ��� �8 ���

�8 ��'����0 ���  �� �#��0 ��� �#����� �#�� ��� ��� ����� �� �$#'�2 	�� �5	

!$��� �# $�� ��� (&� $����� =��!� �� 9� !�  � � ���� � &� ����!���>0 ��� ���!� �����0 ���
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�� 
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�#����� !����0 !��$ �' � �'�0 �� �� �$��0 ��� � � � ����2 	�� 
�� !$��� �# $�� ��!�

�� ��� ����� $����� �� !�$ ��� !�$ &�$#��� ($$�� 9 �� ��I����#���� '��0 ����! �� �'

��!� �� � ���� � &� ����!���2 	�� 
��� !$��� ��(��� ��� )#���4 ���� �� ���� � &�

����!���� ��� ��� ���� � �' ����! ���� ���#!�#��$ �#������2 	�� ��� !$��� ��(���

��!� !�����$ !�$$ �� � $�' !�$ &�$#�� ($$�� 9 �� ���=	�> ����� �$ ��� ����! ����  � ��

� ���� � &� ����!���2 � ��$$�0 ��� ��� !$��� �# $�� ��� @#/ ���#�� ����� �� � $�' !�$

&�$#�� ($$�� 9 �� �� ����� �$ ��� ��� ���� �� ���� � &� ����!����2 ��� 	��$� :2H ���

��� � ��$ (�� Construct ������� #���  � �# $� �' ��� 
�� �#�������2

	�� $ �� �� "���	: ���� !� ���!����� ���$����  � ��� ��'#� � �#$�� ��  �I

!$#�� �#$� �$� �!����� �' �� �$$ ���� !$��0 $����� ! ��� ������ !  �� 4�� ��0 $����� !

����������$#�'0 $����� ! �� � ����#!� ��0 ��� ���� ��� � $�� ��0 ��� ������$�!�� ! ��I

��!�0 ��� ������� �!����� �'2 	�� ���������!� �� ��� ��'#� � �#$�� �� �� �����

���!�����  � ��� ����� ����!��� 9�� �&�$#����  � L-7M0 9� !� !������� � �#$�� ��

9 �� ���� ��� ��W�/  � ��� 
�� = �� 4�� ��>0 �$�!�����'��� ! ���9�� �����  � ���

��� =�$$ 5 ��� � ���!�����> ��� �� ���� ��!�����#!� �� =�$$ 5 ��� � ���!�����>2

%� �' ��� �� &� ������ �&����0 ��� �$�!���� ��W�/ � ��� �#� ��� ������ �'��� 9�$$2

	�� � �����$ 4�� ��� �'��� �� 9 �� � 8-C 9� $� ��� � ����� �'��� 9 �� � 8C2 ��� �I

� &� ������ �&���� 9��� �$�� #��� �� '������� $�����$ �$�!�����'��� ! ���9�� �����

� ��� �#� ���  � � ���� �� �$�!���� 9 �� ����' �� ���9��� 8 ��� - "�52 	�� ������
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�'��� 9�$$ �#� 9 �� � �������� �� �� �� ��� � �#$�� �� ���6 � '��� ���� ���� ��

�����/ ����$� H, ��52 ��#���$ � �� ���� ��!�����#!� �� ����� �'���� 9 �� � ,�HC

9� $� ��� � �������� ��& �� ��� �'���� �� 9 �� � 87C2

����� �	�	���� �	�����	

��!� �#������� �#�� � �#$��� ��� � ' ��$ �������� �� ��� �#������� �$�!���� !�

�� ���  ������� �� ��!����  � ��� "� �� ����� ���  � ��� �!� &� ����!��� �#�������

��' ��� �� "���	:2 �� ����� �� �!!#����$� � �#$��� ���� ��6�� ���� ��� ����!���0

��!6'��#�� � ' � ��6�� � ��!�$� ���� ���� #� �' � !�!$ ! �� ''�� �� ''�� �' �� 8 �4

��� � /��  � 9 �� ��� � ' � '�������� ���� ��� "� ��2 � ��$$�0 ��� !��� ��� ��� ��

� ' �  � ��������� �� ��� ?8 	� ''�� � �#$�� ��2

	�� ���!��#�� ��� '������ �' � ' � ���� "� ��  � ���! (! �� ��� �#�������  � 9� !�

��� "� �  � ����� ���2 ��� �#������ ��  $$#����� ��0 9� !��� ��� ��$� ��� ���!��#��

��� ��� 
�� L-:M2 	�� "���	: ����$ ��� ��� 
�� ��(��� ��� ����� �$ ��� ���

 ���� ��� �#��� 9�$$�0 ��� ����$���� ��� ��� ��I����#���� ($$��  ���� �� =!����!���

��� ��� ������!� �� ����� ��� (�$� 9 ���>2 	�� ���� � &� ����!���� ��� ��(��� �� ���

�� ��!� �� ��� ����� !�$$ $�����2 	�#� ��� "���	: � �#$�� �� ���� ��� � �#$��� ���

 �� & �#�$ !�$$ ��������2 ������0 ��� !�$$ ��������  � �!!���$ ����  � ��� !��&��� ��

���� "� �� �� � ' �2 ��� ��!� $���� 9 �� � "� �0 � ��$ !�$ ���N�!����  � �/�����$����

 ��� ��� $���� ����� �� ��� ����� �� �� ��� ����� ������#�2 	�� �� �� �� !$�����

������!� ���� ��� ��$ / �� ��!� !�$$ = � ��� ���'� �� ���� �$� � � !�$$�>  � !�$!#$����2 ��
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void BgsDchFullModel::Construct() 

// Create envelope volume and place it into babar
DchCylinder.Construct( theDchGeom, babar );
// Set up region and cuts for entire DCH
G4LogicalVolume* regionVol= DchCylinder.getDCHAlogical();
cutManager-"SetDefaultParticleCut(regionVol,

control-"GetDchRangeCut()*mm);
// Define the layers
G4LogicalVolume* MotherVol= DchCylinder.getDCHGlogical();
for( int lay=1; lay <= theDchGeom-"nLayers(); lay++ ) 


G4VSolid* hype = theDchGeom-"getDchDBHype( lay,
nameDaughter );

G4Material* HeIbu=theBgsEnv-"getMaterial("dch-He-Ibu-Wir");
loglayer[lay-1] = new G4LogicalVolume(hype, HeIbu,

nameDaughter, 0, 0, 0 );
loglayer[lay-1]-"SetVisAttributes(new

G4VisAttributes( DCHLcolor));
physlayer[lay-1] = new G4PVPlacement( 0,

G4ThreeVector(), loglayer[lay-1],
nameDaughter + " phys", MotherVol, false, lay );

�
�

�
	��$� :2H3 	�� Construct ������ ��� ��� BgsDchFullModel !$���  � ��'#�2
	� � ������ ��(��� ��� '������� ��� ��� 
��  � "���	:2 	�� !��� ��� ����
� ��$ (�� ��� ���� �� ���� �'2
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��� �� �� $ �� 9 �� � ��� !�$$0 ��� � �� �� @ '��0 !���'� ����� � ��0 ��� ����$��'�� ���

��!����� ��� ���� !�$$2 �������� &� =�� ����> !�$$� 9 �� "� �� �� ��� ����#!� � ' �2

��!� �#!� � � !�$$ ���������� � !��� ���� � ' 2 	�� !�$$ !���'�  � ������� ��� ��� � �

� ��  � !�$!#$���� ��� �������2 ��� �9� � ' � $�!����  � ��� ���� !�$$ ��� ���'��2 �

� '  � !������ ���� � � ' !��� ����  �  � ������ � !�$$  ��Æ! ��!� � �#$�� �� ��� '���

��  �!�������� !�������  ��Æ! ��! �� �� 9�$$ �� !���'�I ��� ����$��'��I���������

 ��Æ! ��! ��2 � �!� � !���'�� !�$$ ���  ��#!� � !���'� �� � �� '���� �' !�$$ =9 ��

������ $ �� � :C>0 ��	������ � ' � ��� '�������� ��� ���'�� 9 �� ��� ����� � ' �2

� �!� ���� �&����  �!$#�� � ' � '�������� �� ��!� �� ��!6'��#��0 ��� � ' � ���I

�#!�� ���� ����� ���$� � �#$�� �� "� �� ��� ���'�� 9 �� � ' � ��6�� � ��!�$� ����

8 �4 ���� ��������� �� ��� �#������� �$�!���� !� L--M2 	� � ���!��#��  � ��$$�9�� ���

��� �5	0 
��0 ��� ��� 
���2 �� ��� !��� �� ��� ���0 ��� � ' � ��� (��� !��I

&����� �� 9�&������ �� ��������� ��� ���$�' �#��#� �� ��� ��� !�����$ ������ ����2

	�� ����� ���$� � ' � ��� !��&����� �� 9�&������ ����� �� � ����#$�0 9� $� ���

��!6'��#�� � ' � ��� !��&����� 9 �� $��6#� ���$�� ��6�� � ��!�$� ���� ����2 	��

9�&������ ��� ���� ���!���� 4��0 � /�� ��� !��&����� ��!6 �� � ' �2

����� ��!6'��#�� � / �'0 ��� � ' � ���� ��� 
�� ��� ��� ��� ������ �� ���

?8 	� ''�� � �#$�� ��2 	� ''�� �� � � &�� ��� '�������� ���� ��� � ' � ���0  � ����

'������� �� ?8 �!!���0 ��� ���!���� 4�� �� ��� ?8 �!!��� � ��2 �� �� � ���'� ���

����� ���$� � �#$���� ����  � ������ �� �� ��� ?7 	� ''�� ��� ��!�����#!� �� ����9���

���! ��$� ��  �  � ��� ���� ���� ��6�� � ��!�$� ���� ��� ����!���2
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�� � ���� $"'"�����

	� � !������ ���!� ��� ��� ��$�!� �� !� ��� � ���  ��$�� �' � '��$ �&���� ���� ��!6I

'��#�� �&����  � ��� ����� ����!���2 �� ��' �� 9 �� � ���!� �� �� �� ��� � �#$�� ��

��� ���� ����$�� #���  � ��� ���$�� �2 �� ���� ���!� ��� ��� !� ��� � #��� ���  ���� ��I

 �' ���� !$� !��� ����� ��� ��� ��!�� )#� ��� ��!�����#!� �' ��� �� ��� �9� � ������

����#!��  � � ' &�� �&��� �� ����� #� �' ����� !��� ���� ���� !$��2 ��/�0 ��� ��I

)# ������� �$�!�� �� ��� ����� � �����  � ����� �� ��$�!� � '��$ !����!��� �� !� ���

��N�!� ��!6'��#�� !����!��� �� !� ��� �#�$ ���2 	�� ���#!�#�� ��� ��� � �' �� � ��#��$

���9��6 ��  ���� �� ��� �/�$� � � �#�� � �� �'# �� �' !����$�� ��� ����' �����&��$�

���������� ��� ���� ���!� ���2 � ��$$�0 ��� !������ ���!� ��� ��� ���������!� �� ���

��#��$ ���9��6  � � !�����$ ����$� �� ���� ��$�!��� �� !�����$ ��� ��� �� ��� $��� ���I

� !$� ��!6'��#���2 �� ���� 9 �� ��� �#$$ ��$�!� ��  � ���9�  � ����� �� ���� � �$ ��0

�#� ��� !�����$ ����$� �����$ ���� ��� $�' � ��!� �� ��� � '��$ ��$�!� �� ���!��#��2
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��� ����$�� #���  � �� � ���$�� �2 �#�� 8I: !��������� �� ���� ��6��
���� �����#�  � 8BBB �� �#���� ��#���9�  � +,,:2 	�� �G�!� &� !���� ��!� ��  �
���� ��� ���� ��� � !�#�� �� $#� ��� �� ��� �2

� !�#�� �'2 	�� '���� ! � �#$�� �� ����$�� B0B0bar =��������� �������� �� �� ���

������� ������� �>0 BpBm0 ccbar0 uds ��� e+e- -> tau+tau- 9��� ���$�4��

�� ���� � ��� �/��!��� ��!6'��#��2 ��� 	��$� -2+ ��� � '��$ ��� ��!6'��#�� �����

���$� � �#$�� �� ����$� � 4��0 !���� ��!� ��� ��� $#� ��� � ��2

	9� ����� 9��� � �#$���� ��� ��#�� �� ��� � '��$ �� � ����2 �� ��� ����

B0->tau+tau- +CC (FSR)0 ��� �  � ��)# ��� �� ��!�� �� ��� ��� � '��$ ��# �� �

��� ��� �����  � ��)# ��� �� ��!�� '���� !�$$� =��������� �������� �� �� ��� ������

�������>2 	�� � '��$ ��!�� ���!���� 9 �� ��� �!�$�� �� �9� $����� =SLL> '�����I

��� ����$ ��� #��� ���	�� ��� (��$ ����� ��� �� ��2 �� ��� ���� Weighted

B0/Bobar -> tau+tau- vs D(star)X cocktail =��������� ��� ������ �	��


����>0 ��� �  � ��)# ��� �� ��!�� �� ��� ��� � '��$ ��# �� � ��� ��� �����  � ��)# ��� ��

��!�� �� ��� �� ��� � '� �#� �� ����� ��!�����#!��� �� ��� ��' � ��  � �� � ���$�� �2

�$$ ����� ��� 9� '���� �� ����!� �' ��� �2 ��� 	��$� -2: ��� ��� ����!� ��� ��' �

!�!6�� $ ��!�� �����2
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	�� ��� ���� �/��!��� ��!6'��#�� !���� �#� �� �� �� � ���$�� � �� ' �����  �

'���� ! ���� � �� ;�� �&����  � 9� !� ��� ��#���$ � ��� ���� �#!!����#$$� ��!��I

���#!��� ��� ��� ���� � �' � � � !� ��� !����!��� �� !� �� ��� � '��$ �� � ����2

	��������0 �� ������ ��� � � ��#��$ ���9��6 ��� '��� �� �������� ��!6'��#�� ����

� '��$0 9� ���$�4�� ��� ���� Weighted B0 -> DX and DstarX cocktail

=��������� ��� ������	��� �	������>  � 9� !� ��� �  � ���!�� �� ��!�� �� � ����

��!�����#!��� 9 �� � '� �#� �� �� ��� ��' � ��  � �� � ���$�� �2 ��� 	��$� -2: ��� ���

����!� ��� ��' � ��!�� �����0 9� !� ��� ��� ���� ��� ��� � '��$ !�!6�� $2

E� ��&� ���$���� ��� ����!� �� ��� ��� ������ �' 6��9� ����$���  � ��� �����

���$� ����$��2 � �!� ��� ����� ���$� � �#$�� �� �&����� ����� ��� �Æ! ��! �� ���

���� !$�  ���� (!�� ��0 ��#���$� ��!�����#!� �� ��� ���!6 ��!�����#!� ��0 9�  ��$�����

��� !����!� ��� ����� �� ���� !�����$ ����$�� ����!� ��� �� ��� ���� !$�  ���� (!�� ��0

��#���$� ��� ���!6 �' 9��6 �' '��#��2

������ �' ��� ���� ��� � �#$�� �� ��!�����#!� �� �Æ! ��! �� ��� ��� &�� �#� ���I

� !$� !��� ���� ��$�!����0 ��� ���� !$�  ���� (!�� �� 9��6 �' '��#� �� ����� L-HM ��#��

���� ��� � �#$�� �� �&����� ����� ���  ���� (!�� �� �Æ! ��!�2 	�� � �!�����! �� &���

����� �� ��� ��'� �#�� ��� � ��!� �� �� ��� !��� ���� ������#�2 	�� ���� �Æ! ��I

! �� ���� ��� ���� !�����$ ����$�� ��� ���& ��� �� ��� ���� !$�  ���� (!�� �� 9��6 �'

'��#�2 ��� ��� �$�!���� ��� �#�� ��$�!���� ���$����  � �� � ���$�� � ��� �� � ����0

!#���� ���$�� ��&� ���� '�������� �� ��� ���� !$�  ���� (!�� �� 9��6 �' '��#� 9� !�

��$�  �!$#�� !��� ���� $������ ���� ��� !�����$ ����$�� 9� !� ���� ��� $���� !���'��
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6��� &���2 	���� !#���� ���� !$�  ���� (!�� �� 6 $$ �' ���$�� ��&� ���� ���$����

�� ����&� �$�!����� ��� �#��� ���� ��� !��� ���� $ ��� #���  � �� � ���$�� �2 	��

'���� ! ���$�� ��!�������� �� ��� ���� !$�  ���� (!�� �� 9��6 �' '��#� ��&� ����

���$���� �� ����&� !���'�� 6���� ���� ��� !��� ���� $ ���2 ����� �� ��� ��'� �#��

��� ��$�� ��'$� �� ��� !��� ����S� ������#�0 � ������ $ �� �� ��!�����#!� ��  � �

' &�� $ ��  �  ���� (�� ���� !�����$ ����$� ��#� ��2 �� � ������ �#���� �� ��� #� �

 ����&�$ $ �� ���&� ���� ������ $ ��0 ��� !��� ����  � ����&�� ���� ��� ��$�!� �� $ ��2

������ �' ��� ������ ����'� ����$#� ��  � ���� � ���� =���I����' �� ���I

����'> � �#$�� �� ��� ���� !�����$ ����$��0 ��� ��#���$� 9��6 �' '��#� L-AM ��#��

���� ��� � �#$�� �� ���� #������� ����� ��� ������ ����'� ��� �&����� ����� ���

����'� ����$#� ��2 	�� �#���� +,,: �!�$� ��!���� 1�' ��� �� ����� 8,�� ��� ��� �����

��!���� 1�& ��� �� ����� 8,��2 	�� !����!� �� ��!���� ��� ����'� ��������� ��� !���'�

���� �#� �� �#�2 	��� ��� ���& ���  � ���$� ���� �� ��� ��#���$� 9��6 �' '��#�2 E�

(��� ����� ��� ������ ����'� � ����$#� �� ���� ���  � ��� ��� �� ������$ �' ���

����'� ���� � "�#�� �� 9 �� ���� � ��� 9 ��� �1�&0 ��� ���� �!�$� ��� ������$��

����'� #� �� ��� ��!��� 8 P 1�'2

� ��$$�0 ��� +,,: ���!6 �' �Æ! ��!� ���6 ���!� �� ����� L-JM ��!������� ���!6 �'

��!�����#!� �� �Æ! ��!� !����!� ���2 	��� ��#�� ���� ��� � �#$�� �� �&����� �����

��� ���!6 ��!�����#!� �� �Æ! ��!�  � ���� � ���� !�����$ ����$��2 	�� !����!� ��

��!���� ������ �� ��� �&��� ���!6 �#$� �$ ! ��0 ��'� �#�� ��� � ��!� �� �� ��� ���!6

�������2 �$������ &�$�0 ��� ���!6 �' �Æ! ��!� ���6 ���!� ��!������� �� �&���'��
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6%)0#��%�� 6�)'#� 6@ �� #� "('� �()��� >"����

Signal Generic 6@� ���
 � �	�� ���� � �	� ���� � �	�

Signal Generic 6@� ���
 � �	�� 
��	 � �	� ���	 � �	�

Signal Cocktail 6@� ���	 � �	��� ���� � �	� ���� � �	�

Signal Cocktail 6@� ���	 � �	��� ���� � �	� ���� � �	�

B0B0bar Cocktail 6@� ���	 � �	�� ���� � �	� ���� � �	


B0B0bar Generic 6@� 	���� �		�� ���	
 � �	�

B0B0bar Generic 6@� 	���� ��	�� 
�
�� � �	�

BpBm Generic 6@� 	���� 
���� ��	�	 � �	�

BpBm Generic 6@� 	���� ����� ���	� � �	�

ccbar Generic 6@� ��
	 ��	�� ����� � �	�

ccbar Generic 6@� ��
	 ����� ���
	 � �	�

uds Generic 6@� ��	� ����� ����
 � �	�

uds Generic 6@� ��	� ����� ���		 � �	�

e+e- -> tau+tau- 6@� 	��� �	
�� ����� � �	�

e+e- -> tau+tau- 6@� 	��� �
��	 ����� � �	�

	��$� -2+3 � '��$ ��� '���� ! ��!6'��#�� ����� ���$� � �#$�� �� ����$�� ���� ���
BSemiExcl �6 � #���  � �� � ���$�� �2 ����� ��!� ��� ��� ���� ��� ���� L7M2 	��
�������� ����$ �/��!��� �� �
� =�� � ����> K 7�8� 8,��  � ���#���2

@�� ,�JC �Æ! ��!� ���#!� �� ��� ��!�����#!� �� �� $���� ���!6� =GoodTracksLoose>

 � ��� � �#$�� ��2 E� !���� ��� @�� !����!� ��2

-2+2 �������	 ��������	 $	�	�����

���� !$� !��� ����� ��� ��$�!��� ���� ����' ��� $ ��� �� ���!6� ��� !$#����� #� �'

������	��2 ��$�!���� ��� �$'�� ���� ��� '��� �� ��$�!� !��� ����� 9 �� &��� �' !� ��� �

���� &��� $���� �� &��� � '�� ������ �' �� ��� ��� ��� ��#� ��$�!� �� ��� !���������I

 �' ��6� ��N�!� �� �����2 	�� ���!6 ��$�!��� #���  ������� �� ���� ��� 
�� ��� �5	

�� !���'�� 4� ��� !��� ���� ���!6�2 	�� ���������� #��� ��� ���!6 ������#� *0 ���

�#���� �� 
�� � �� ����! ���� 9 �� ��� ���!6  4��0 ��� H� �� ��� ���!6 (� H���� ���
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��� 6 !�������� �� ��� � ����!� �� !$����� ������!� �� ��� ��� ��$ �������� 6�2

	�� ��������� !#� &�$#�� ��� GoodTracksVeryLoose ��� GoodTracksLoose

��� ��#��  � 	��$� -272

������� ��� ��$�!��� ���� ����' ��� !$#���� !��� ����� 9� !� ��� ��)# ��� ��

��&� �� $���� ��� ���� ��� !�����$ � � 9 �� � � � �#� ����'� ����� � �� ,�,8 "�5

���  ��$���� !�����$ � �� =�� ,�,7 "�5 ��� !��� '#�#� � ��>2 	�� ������ !��� ����� ���

��$�!��� #� �'  ������� �� ���� ��� ��� ��� ��$�!� �� ��� ��� 
�� ��� &���2 	��

���������� #��� �� ��$�!� ��� ���!6 !��� ����� ��� ��� ��9 ����'� ����� ���  � ���

��� !$#���� ���(0 ��� �#���� �� � � !�����$�  � ��� ��� !$#����  9�� ��� � $�����$

��� ���9�� ����� &�� ��$� ($B ��(��� ��

($B K

�+
�����=

�
�

��=�� P ��=�� P
�+

�����=��
=-28>

9���� ,  � ��� �#���� �� !�����$� ���6�� �� ����'�0 =�  � ��� � ����!� ���9��� !�����$

!������ =- !�> ��� =�  � ��� � ����!� ���9��� ��� !$#���� !����� � ��� !$#���� �2

�� ��� � ��� ��� $ ��� GoodPhotonLoose ��� ��� !����� ��� GoodPhotonDefault

��� ��#��  � 	��$� -272

	�� �$�!���� ��$�!��� ���$����  � �� � ���$�� �  � ���!� ���  � L-BM2 ��  ���� (��

�$�!����� 9 �� ��� !����!��� �� ! ���������� ���� ��� ���� ��� ���0 ��� 
�� ���

��� 
���2 	�� ���������� #��� ��� ���  �� 4 �' ����'� $��� ����#���  � ��� 
��

�����0 ��� � G����!�  � ? ���9��� ��� ��� ���9�� !����� � ���N�!��� �� ��� ��!�
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��������� GoodTracksVeryLoose GoodTracksLoose
* � 8,"�5 � 8,"�5
*� � , � ,�8"�5
 4�� � : � 8+
H���� � , � ,
6� L�8,� 8,M!� L�8,� 8,M!�

��������� GoodPhotonLoose GoodPhotonDefault
���( � ,�,7"�5 � ,�8"�5
 9�� � 8 � 8
($B � ,�J � ,�J

��������� eMicroLoose eMicroTight
����� L-,,� 8,,,M L-,,� 8,,,M

O? � �
��* L,�H-� -�,M L,�A-� 8�7M
($B L�8,� � 8,M L,� ,�HM
�$	�� L�8,� 8,M L�8,� 8,M
 9�� 7 7
;( � �

��������� muMicroLoose muMicroTight
���( L,�,� ,�-M L,�,-� ,�:M
 � � � 8 � 8
� � + � +�+

O� � + � 8
H���� � A � -
H�'�� � : � 7
;� � 8, � J
-& � H � :

1M,��,:��) � ,�+ � ,�7

��������� KlongEmcLoose KlongEmcTight

���( L,�8� +�,M"�5 L,�+� +�,M"�5
!�� ;'�� � L�8�,� ,�,7-M
/ =H����> � � ,�,,8
�L$��M � K :  � ���( � ,�-

�L  =$��� $	�>M � K :  � ���( " ,�-
$�� � � ,�J  � !2� � L,�8� ,�8-M
!2����

� � ,�88

��������� KsLoose KsDefault
�22 , ,

&����/ �' �� ���
!22 L,�7� ,�AM"�5 L,�7:A� ,�H:AM"�5

	��$� -273 �#�� #��� �� ��� ��$�!���� ���$����  � �� � ���$�� �2 ��� !����� ���0 ���
!#�� #��� �� ��� ��$�!��� 9 �� � G����� !� ��� � ��� �$�� $ ����2
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��� ��� ����! ���� ���!6  ���!� �� �� O?0 ��� ��� � �� ��� ����'� �� ��� ������#�

�� ��� ����! ���� ���!6 ��  �� �� ' � ��*0 ($B 0 ��� ������6�& ��'$� ����#���  � ���


��� ;( ��� ��� ���#$#� �� ��� ���9��S� ]��� 6� ������ �� ����� =:0+> �$	��0  9��2

	�� ]��� 6� ������ �� ����� =�0�>  � ��(��� ��

$&+ K
�P 8

�

� �
���)��=�� )>3 �

&+=�� )> =-2+>

9���� ���  ���'��� ��  � �&�� ��� #� � � �60 ��=�� )>  � ��� ����'� ���� �� �� ��� ���9��

��� 3&+=�� )>  � ��� ]��� 6� ��$���� �$2 	�� ���! (! ��������� &�$#�� ��)# ��� ���

eMicroTight ���0 ��� !����� ���0 eMicroLoose0 ���  � 	��$� -272

�#��� ���  ���� (�� 9 �� ��� ��$�!��� ���!� ���  � LH,M2 	� � ��$�!���  ���� (��

�#��� 9 �� ��� !����!��� �� ! ���������� ���� ��� �� ��� $� ���� ��� ��� ��� ��!��I

��� $� ���� ��� ��� ��� 
��2 	�� ���������� #��� �� ��� ��$�!��� ��� ��� �#����

�� ��� $����� � �  � �0 ��� ����'� ����� ��� �� ��� ����! ���� ���!6  � ��� ���

���( 0 ��� �#���� ��  ���  �����!� �� $��'��� ���&����� �0 ��� � G����!� ���9��� ���

�/��!��� ��� ����#��� � O�0 ��� H� �� ��� ��� !$#���� � �� ��� ��� �/�����$����


�� ���!6 H����0 ��� H� �� ��� ��� !$#���� � �� ��� ��� � ��$���� �$ (� H�'��0 ��� ����

�#���� �� ��� ��� �� � � ��� $���� ;�0 ��� �������� ��& �� �� �� ��� �#���� �� ���

��� �� � � ��� $���� -& ��� ��� ���!� �� �� $����� � � ���9��� (��� ��� $��� � � $����

1M,��,:��)2 	�� ���! (! !#� &�$#�� ��)# ��� ��� muMicroTight ���0 ��� !����� ���0

muMicroLoose0 ���  � 	��$� -272
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����'�� 6���� ���  ���� (�� 9 �� � ��$�!��� #� �'  ������� �� ���� ��� 
���0 ���


�� ��� ��� �5	2 	� � ��$�!��� #��� � ��#��$ ���9��6 9 �� � :� 8,� 8 ����$�'� ��

����#!� � � �'$� �#��#� ���� ��#�  ��#��2 	�� ��#�  ��#�� ��� ��� ������#� �� ���

!��� ���� *0 ��� ��� � �� �5	 ��������� 6��� $ 6�$ ���� �� ��� �#� �� �� � 6��� ���

��� � � $�� � �� $ 6�$ ����0 ��� ��� � �� 
�� ��������� 6��� $ 6�$ ���� �� ��� �#�

�� �� � 6��� ��� ��� � � $�� � �� $ 6�$ ���� ��� ��� ��� � �� 
��� ��������� 6���

$ 6�$ ���� �� ��� �#� �� �� � 6��� ��� ��� � � $�� � �� $ 6�$ ����2 	���� ��� �� �� �

��� �� ��� ����

�� � K
(� �
�

(� �
� P (� �

2
=-27>

9���� 7)7  �� !���� ��� 
��0 ��� �5	 ��� ��� 
���2 	�� ������#� ��� ������6�&

��'$� ;( ��� ���� ���  ��#� ����������2 ��� ��� KMicroLoose $ ��0 ��� ��#��$

���9��6 �#��#� !#� &�$#�  � ,�-0 ��� ��� KMicroTight ��� !#�  � �� ��� �� ,�H+ LH8M2

�� !��� ����� ���  ���� (�� 9 ��  ������� �� ���� ��� ��� #� �' !��� �����

���� ��� !$#���� $ ��2 �#�� ��� ���$ �� �� ��N�!� ���� ����� !��� ����� 9 �� ����! I

���� ���!6� ��� ����� 9 �� ����! ���� ������� ���� ��#���$ � ���2 	�� ���! (! !#��

��� KlongEmcLoose ��� KlongEmcTight ���  � 	��$� -272 	�� � �!� � ��� �'

���������� ��� ���( 0 ��� !�� �� �� ��� ��'$� �� ��� ��� !$#���� 9 �� �����!� ��

��� ���� �/ � !�� ;'��0 / =H����>0 ��� ������ ��N�!� �� $�&�$ =� � +��+?> ������ ��� ��

��� ]��� 6� ������ �� ����� =+0,> �L$��M0 ���  �&�� ��� ���� �� ��� !��� ���� ���
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��� ����� CalorClusterNeutral !��� ���� !2� ���  � ��� !��� ����  � � ��#�$�

�#�� ��� !$#����0 ���  �&�� ��� ���� �� ��� �9� �#��� !2����
2

���� ���� ��#���$ � ��� ��� ������ ���� ������ !��� ���� �� �� ��6�� ���� ���

GoodPhotonsLoose $ �� ��� ��� ��)# ��� �� ��&� ��9  �&�� ��� ����  � L,�,B,� ,�8A,M

"�5 ��� ����'� �2� " ,�+ "�52 �� ��� pi0DefaultMass $ ��0 !��� ����� #����'�

� ���� !������ ��� (� LH+M2

���� �����
 ��� '�������� 9 �� ��#'���� � ��� ��6�� ���� ��� ChargedTracks

$ ��2 	�� ���!6� ��� &����/�� ��� ��� ������� ��� ��!�$!#$���� �� ��� &����/2 	��

���������� ��� ��� !���'� �� ��� � �� �� � �22 ��� ���  �&�� ��� ���� �� ��� � ��

�� � !222 ��� 	��$� -27 ��� KsDefault ��� KsLoose ��������� ���'��2

���������0 � GoodTracksVeryLoose !��� ���� 9 $$ �� �������� �� �� � ����

�		�� �����0 � GoodTrackLoose !��� ���� 9 $$ �� �������� �� �� � �		�� �����0 �

GoodPhotonLoose !��� ���� 9 $$ �� �������� �� �� � �		�� ��	�	�0 � pi0DefaultMass

!��� ���� 9 $$ �� �������� �� �� � ������� ������� ��	�0 � eMicroTight !��� ���� 9 $$

�� �������� �� �� � ����� ������	�0 � muMicroTight !��� ���� 9 $$ �� �������� �� ��

� ����� 
�	�0 � KMicroLoose !��� ���� 9 $$ �� �������� �� �� � �		�� ������� ��	�

� KsDefault !��� ���� 9 $$ �� �������� �� �� � ������� �
0 ��� � KlongEmcTight

!��� ���� 9 $$ �� �������� �� �� � ����� ��2
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-272 ��� � $	�	�����

��� � �	������������

��� � ��' � ��!�����#!��� 9 �� ����'� �" ��� ������#� *" = � ��� !�����I��I

���� �����>0 ��� ��(� � ��� ��� ����'�I�#��� �#��� ���� ��� ����'� � G����!� ���

���$���� ����#'��#�3

��
 K
�
��

���& � *�" =-2:>

O� K �" � ����& =-2->

9���� ����&  � ��� !�$ ������ !�����I��I���� ���� ����'�2 � �!� ��!� � �#�� �������

��$� �� ��� ����$ ���� ����'�  � ��� !�����I��I���� �����0 ��
 ���& ��� !��� �����$�

 ����&�� ����$#� �� �� ��� ��!�����#!��� � ����2 � !����!�$� ��!�����#!��� � 9 $$

��&�����$��� ��&� � O� ���� 4���2

	�� ��' � ��!�����#!� �� ���!���� �� ��!�����#!� �' � ���� �
�� ��� ���� ��� �'

��� � ���$ � ��� ��� 6���� #�� $ ��� ������  �  � � ��
�O� � '��$ ��' ��2 	��

��!�����#!��� �� !����� � ��  � �
��,���=�

�
� 9 �� ,P�P=P
 � H2 ��� 	��$�

-2: ��� � $ �� �� ����� ��!�����#!���2 �� ����$0 ����� �#����� ����� ��� ��!�����#!���0

���#'� ���� �� ����� ����� � �$� &��� ��9 � '��$ �&���� ��$�� &� �� ��� �#���� ��

��!6'��#�� �&����2
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	��$� -2:3 �� ���0 ��� ����!� ��� � '��$ ��� ��!6'��#�� !�!6�� $ ��' � ��!��� �� �
�
���2 �� ������0 ��� ��!�� ����� ��!�����#!���2

��� ��!� � �� �!� ���� ��!�����#!���0 ��� ��� � �� ���6 �' �� ���I���6 �' �&����

 � ��� � '��$ ��' �� ��(��� �� ��
 � L-�+A� -�+BM "�5 =��� ������>  � ������ ��� ����

� ��
 (� �� ����2 ����� ���6 �' �� �#� ��0 ��� ����� ��� !��� ��� 9 �� �$$ �����

����� �� �)#�$ �� $�9�� �#� �� ��� ��(�0 ��#� ��(� �' ���  ���'����� �#� �� ��� ���

����  � )#��� ��2 ���� ����' ��� ���� ��!�����#!��� !��� �����  � � � �'$� �&���0

��� �� !��� ���� 9���� ����  � ��!�����#!��� 9 �� ��� � '����  ���'����� �#� ��  �

��$�!��� �� ��� ��' �2 �� ��� !��� ����  � � !���'�� � ��� �&���  � ��N�!���2

	�� ��� �/!$#� &� ��'� ��!�����#!� �� ����� 9 �� �#� ��  � ���  ����&�$� L,�8� ,�-M0

L,�-� ,�JM ��� L,�J� 8�,M ��� !���'�� 4�� �� ��� �����0 ����� ��� ���� ����� �����!� &�$�2

����� 9 �� ��' � �#� �� 8,C �� $��� =����� 9� !� ��� ��� !$��� ���#'� �&�� ��� ���

� ��� !���'���> ��� ��N�!���2 ��$�9 8,C �#� ��0 ��� ��' � ��!�����#!� �� ����� ����$�
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� '#�� -283 �� $���0 ��� ��!�����#!��� ���� �� ��� ���� � �� �� #���  � ��!�����#!� �'
��� ��'�2 �� � '��0 ��� O� �� ��� ��' �2 ��$� ��� ������� �	
�	����� �� ���� =����>0
'���� ! ��#���$ � =��$ �> ��� ��� � '��$ !�!6�� $ =������> ��� �$�����2

��&� 9�$$I��(��� ��
 ���6 �' ��' ���2 �� ��� ���� ��� ����$�  �� �� �'# ����$� ����

�� ��'#� �#�!� �� LH7M2 E� ���������  ����� �9� )#�$ �� ��)# ������� �� ��� ��' �3

 > ��' � ����'�I�#��� �#��� ���� ��
 � L-�+� -�7M "�5 ���   > ��' � ��!�����#!� ��

���� �#� �� '������ ���� 8,C2 E� ��)# �� ���� ��
 � L-�+� -�7M "�5  � ����� ��

��N�!� �&����  � 9� !� ��� ��' ��!�����#!� �� ��� !$���$� �� $�� �� ��!�����#!� � ��#�

� 9 �� ��� ��� ��$ � ����2

/������ ����	���	 ��� ��&������� �����

	�� !��� ����� �$ ��� !��� �##� ��!6'��#�� ��� �#����!��� �� (�� �' ��� ��


� ��� �#� ��2 ���6 �' �&���� $� �'  � ��� � '��$ ��' �� ��(��� �� ��
 � L-�+A� -�+BM

"�5 ��� !��� ����� ��' � � '��$2

	�� ��
 (�� ��� ��/ �#� $ 6�$ ���� (�� ��������� 9 �� ��� ���	 &728,W,8 LH:M

 ������!� �� ��� ���%�	 &B:28 LH-M ��!6�'�2 	9� ������ $ �� ���� �� �#�!� ��� ���
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#���  � !�����#!� �' ��� �&���$$ (�� �' �#�!� ��0 � � �'$� ��'#� �#�!� �� ��� � ������$

��$$ �#�!� ��3

$=�> K �
�

8� =���'>� �/�
�
�
�
8� =���'>

�
��

=-2H>

D=�> K

���� 
���!

=8 P <=����>�- � <�>�+ �/�
�
��

�
<�
�

=����>�- � <

�/� L�=����>
��+-�M =����>�- � <

"���#
���$ =-2A>

	�� ��'#� �#�!� �� $=�[ ���'> ����$� ��� !��� �##� ��� !��� ����� �$ ��!6I

'��#��2 �� �$$ !���� ��� ��'#� !#��G �'  � (/�� �� ��$� ��� ��� ��$ !�����I��I����

���� ����'� =�' K -�+B "�5>2 	�� ������$ ��$$ �#�!� �� D=�[ -���� <� ,> ����$�

��� � '��$ ���6 9 �� � "�#�� �� ���&� � !#��G ��(��� �� < ��� � �� $ 9 �� � ��9�� ,

��� ����$ �' ��� �� &� $����� ���� ��#���$ � �� ��!���2 	�� ���������� 9� !� ��� ����

 � ��� (�� �' ���!��#�� ��� ��������� ��� ��'#� ����� ��������� �0 ��� "�#�� ��S�

���� �� ��� 9 ��� -0 ��� �� $ !#��G <0 ��� �� $ ��9�� , ��� ��� !��Æ! ���� 1� ���

19 �� ��!� �� ����� �#�!� ���  � ��� �&���$$ (�� �' �#�!� ��

' =�[ ���'� -���� <� ,> K 1�$=�[ ���'> P 19D=�[ -���� <� ,> =-2J>

�� ���� !����0 ��� �� $ ��9�� ,  � ���� ����$�� ���� ��� � �$� � $�!�$ ��/ �#�

$ 6�$ ���� ��� � ���� !�$ ���'� �� &�$#�� ��� ��� (� ���#��� #���$ ��$� ������2 �� �� �

!��� ��� �� $ ��9��  � ����  � (/�� �� ��� (���� �� $ ��9�� ���� ��� ���� ��� '���� !

��#���$ � ����$�2
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�� ����� �� !������ ���� 9 �� ����� ���$� � �#$�� ��  � ��� ���������� #���

 � ��� ���$�� � !�� � ���!� ���  � �� � ����0 ��!� ��������� ���'�  � �#�� & ��� ���

��
 (�� ��� ��������� �� ��� �&���� 9� !� $ � 9 �� � ���� �#����'�2 ��� �#������ ��

�$��� �'0 ��� ���'�� �� ��� ���������� �� ��� ���$�� � !�� � ��� � & ���  ��� �#����'��0

��!� �� 9� !� !���������� �� ��� � �  � ��� ��������� �$��2 E �� ����� ���
��
��� (��0

9� ��� ��$� �� !������ ��$� ��� !�����$ ���6 �' !��������� ���9��� ���� ��� �����

���$� � �#$�� ��2 	�� � �  � �� ���� � � �#$�� �� �Æ! ��!� �� ���6 �' !���������

�� � � �I��I� � ��� �0 ���� �� �#$� �$� �� � � �'$� � � �Æ! ��!� �� ��� ����$ ���� ��'

� �$�2 	�� � '��$ ��' �� �#� �� *  � ������ ��� �� ��� ��� � �� ��� ����  � ��� ������$

��$$ �� ��� ���� �� ��� �&���$$ (�� �' �#�!� �� �� ���  ����&�$ L-�+A� -�+BM "�53

* K

% �3��
�3�� ��19D=�[ -���� <� ,>% �3��
�3�� ��' =�[ ���'� -�� ��>

=-2B>

	�� ���6 � �$�  � ���� ��6�� �� �� * 0 ��� �#� �� � ��� ��� ����$ �#���� �� �&����  

 � ��� � '��$ ��' �� ��
 � L-�+A� -�+BM "�52 �$$ '���� ! ��#���$ � ����� ���$� � �I

#$�� �� � ���'���� ��� �����$ 4�� �� ��� ���� ��' � �$� ����� �����$�!� �� =���!� ���

 � ��� ��$$�9 �' ��!� ��>0 �/!��� ��� ����� �� 9� !� ��� ���$�� �  � �� $$ �$ ��0  � 9� !�

!��� ��� � ���'���� ��� #������$ 4��2 � '��$ ����$�� ��� �����$ 4�� �� ��$� ���

'���� ! ��#���$ � �����$ 4�� ��2 ��� � '#�� -28 ��� � ��� �#� ��� �� ��� ��' � O�

��� ��!�����#!��� ���� �
�� ���� ����� ��!6'��#�� �#����!� �� #� �' ��� ��
 (��2
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� '#�� -2+3 �� $���0 �#�� 8I: ���� =����> ��� ���� ��� �� ������ '���� ! ��#���$
�0 BpBm0 ccbar0 uds ��� e+e- -> tau+tau- ����� !��$� � �#$�� �� ����$��
=��$ ��>2 	�� e+e- -> tau+tau- !��������  � ��� $��'� ���#'� �� �� & � �$�2 ��
� '��0 � ��#� ��'#� (� �� ��� ��
 ���� � ��� �#� ��2

��� � #�	��

E� ���� � ��� ����$ ��#���$ � ��' � �$�  "� �"� �� #� �' ��� !��� �##� ��� '���� !

!���'�� � � �#$�� �� ����$�� �� ����$ ��� ��!6'��#��2 E� (��� (� ��� '���� ! ��#I

���$� ��
 � ��� �#� �� 9 �� � ������ $ �� ���� �� �#�!� �� !������� �� � ������$ ��$$

�$#� � � �'$� ��'#�2 	�� ������$ ��$$ !�������� 9�� ���� �#����!���0 �� ���� ��$�

��� !��� ����� �$ =�	��������> !�������� �� ��� ��#���$ � � ��� �#� �� ���� ���2

	�� ���� � �' !��� �##� ��� !���'�� � � ��� �#� ��� 9��� ���� ����� 9 ���#� �$I

����� ��2 	�� �&���$$ ����� ���$� � �#$�� �� � ��� �#� �� ��� ���� �� ���� ���9��� ��

,�- ��5 �� ����  �� !#��G �$ '�� 9 �� ��� ���� !#��G0 ���  �� �����$ 4�� �� ��� ����

��$�!��� �� � � � 4� ��� ���� �)#��� �����  � ��� ��' �� ��
 � L-�+7� -�+-M "�52

�� ����� �� ���� � ��  ���������� ��� ���� �� ��� ��' � �$�  "� �"� ��� �������



8:-

��� ���� ��� ��' � �$� �������� ! �����0 9� �$�� (���� ��� ��!6'��#�� ��
 � ��� I

�#� ��  � � ��' �� ��� ��$�9 ��� ���62 	� ����$ ��� !��� �##� ��� !��� ����� �$

��!6'��#��0 9� ���#�� � ������ $ �� ���� �� �#�!� �� 9� !�  � ��� �#� �� ��#� ��'#�

�#�!� ���0 ��� ��!� �� ����$ ���� � �� ;��0 ����0 1;1 ��� 
;
 =
 K :� �� 7>2

�� ��� (�0 ��� ��$�� &� ������� ��� �� ��!� !�������� ��� (/�� �� ��� &�$#��

���� ��� ���� ��� � �#$�� �� ����$��0 �#� ��� ��#� ��'#� ����� ���������� � ���

����2 	�� ��'#� !#��G ��������� �'  � (/�� �� -�+B "�5 ��� �$$ ��#� ��'#� �#�!� ���2

	�� (�  � ��������� ��$�  � ��� ��' �� ��
 � L-�+,� -�+-M0 9�$$ ��$�9 ��� ���6 �� $2

��� � '#�� -2+ ��� ��� ��� �/!$#� &� ��' � ��
 � ��� �#� ��2 	�� ��' � � �$�

���� ��� 9 �� ��� ��#� ��'#� (�  � 78A::82 	�� ��' � � �$� ���� ��� 9 �� ���

����� ���$� � �#$�� �� ����$��  � 787:J,2 	�� � �!�����!�  � �� #��� �� �����$ ��

� �������� ! ����� ��  "� �"� 3  "� �"� K =7�87	 ,�,:>� 8,�2 ���� �$�� ��� �����!� ��

� ���6 �' !��������  � !��� �##� ��� '���� ! ���� � �#$�� �� ����$��2

-2:2 $����� � $	�	�����

",	�� ��	�	�	�����

����� ���$� �' ��� ����!� �� ��� ��� !����!� �' 6��9� ����$���  � ��� ����� ���$�

� �#$�� ��0 9� ��#�� ���� ��� � ��� �#� ���  � ���� ��� ����� ���$� � �#$�� �� � �

��� ���!�2 ��� � '#�� -27 ��� ��� � '��$ � �� &��� $���� ���!6 ��� $���� ������ �#$I

� �$ ! � ��2 	�� ���� �'�������  � ����#���$� �#� �� ��#� �#� �&���� 9� !� $�!6 �
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� '#�� -273 �� $���0 ��� &��� $���� ���!6 �#$� �$ ! �� �� ��� � '��$ � ��2 �� � '��0 ���
$���� ������ �#$ �$ ! �� �� ��� � '��$ � ��2 ��$� ��� ������� �	
�	����� �� ����
=����>0 '���� ! ��#���$ � =��$ �> ��� ��� � '��$ !�!6�� $ =������> ��� �$�����2 	��
'���� ! ��#���$ � � ���'���� ��� �����$ 4�� �� ��� ���� � ���'����2

��(� �� ���� !� ����$�'�2 	�������� ����� ��)# ������� �� ��$�!� � � ��!�� ����$�'�

���  ������ �� ��� ����$�� ������ ��' �� �' �� � ���$�� �3  > �9� &��� $���� ���!6

!��� ����� ��!�����#!��� ����� �� ��� ��' �0   > ��#� �� ��9�� $���� ������� ��!��I

���#!��� ����� �� ��� ��' � ���    > ��' � ��!�����#!� �� ���� �#� �� '������ ����

8+C

E� ��)# �� ���� ����� �� �/�!�$� �9� ���!6 !��� ����� 9� !� �� ��� �&��$�� ��� ��'

�  � ��� &��� $���� ���!6 $ ��2 	�� &��� $���� ���!6 !� ��� � ��)# �� ��$� � � � �#�

�� ��#� � ��  � ��� 
�� ��� � �� �� �� �� ' � 9 �� � ��� !��� ������ �� ��� ��� ��$

 �����!� �� �� ��  � ��� 6 � ��!� ��2 E� �$�� ��)# �� �� ���� ��#� $���� ������� 9� !�

�� ��� �&��$�� ��� ��' �0 � �!� � � �'$� ��# ��!�� �� � ��� ���� !$� ���!� ��� �9�

�������2 	� � ��)# ������ �$�� �$$�9� ��� ����������$#�' ���� ��# ��#'���� �$�!�����

�� 9�$$ �� ��#� �#� �� ��  � ��� !�$�� �����2 � ��$$�0 ��� ��' � �#� �� ��)# ������  �
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��� $��� ��� ��� '���� ! ��#���$ �0 ����0 � '��$ '���� !0 ��� � '��$ !�!6�� $ ����$��

� '������ �� ,�8+ �� '������2 	� � � � �#� �#� �� 9�� ��#�� �� ��� � 4� ��� #����

$ � � =��� ��!� �� H2:>2

�����  ���� �' ����� ��)# �������0 ��� ����� ���$� � �#$�� �� ��� ���� � ��� �#I

� ��� !���  ��� ������ �'�������2 ��� ��� ������ / ��� � ��� �#� ��� ������ ��� �����

��� �����$�!� �� ��)# ������� ���  ������2 ��� � '#�� -2: ��� ��� ��
 � ��� �#� ��

(�� ����� ��� �����$�!� ��  �  ������  � ��� ��� �/!$#� &� �I�#�$�� ��  ������� �� �� �

���$�� �2
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	�� ��!6'��#�� ��N�!� ��  � �#���� 4�� �� ��$$�9�3  > 4��� ��� !���'�  � ��� �9�

$���� � '��$ � �� ���!6�0   > 4��� $���� !���'�� 6���0 4��� ����#$� �
 ��� 4��� � '��

�� ���    > � � ��$ ������ ����'� ���� � �' #���� '��� �� ����#$� ��#���$ � ���2

	�� ��� ���� ��!6'��#�� �� ��� �� � ���� ���$�� � �� ' �����  � ���� � �� ;��

�&����  � 9� !� ��� ��' � ��� ���� �#!!����#$$� ��!�����#!���2 	�� 
 )#��6  � ���

� '��$ � !��� ���� #����'��� � !��!��� ��!�� 
 � ��1=� ��7> 9� !� ����#!��

�9� ����� ��$� !���'�� � ������ ��� � �����'� ����� ����#!�� ����� ������ 4�� ��

�� ��� �����'� )#��62 	�� � ����� �� � ��!�� ���� � � !� � ��# �� � ��!�� ��� ���

������ 4�� �����'� )#��6 ��!���� ����!� ��2 � ��!������ ��!6'��#�� �� ' �����  �

�&����  � 9� !� �9� ���!6� �� ����� �� !���'� ��� $���  � ��� #� ����#������ ���9���

��' �� �� ��� ����!���2 	�� !�$ ��!6'��#�� �&���� !�� ��#� �� �#���� 4�� �� ��$$�9�3

� ���� �� � ��=� ����>�� =9���� ��  � #�����!���> �� �� � ��=� ������>�

=9���� ���� ��� $��� ���9���>2 �� �$$ �$���0 ��� ���6 ������ � ���'���  ���� (�� ���

!�������� �� ��� � �#$�� �� ��!6'��#��  � 9� !� � ��  �  ���� (�� 9 �� � �#$�� ��

��#��2

	�� �����$�!� �� ��N�!�� �&���� 9 �� &��� $���� ���!6 �#$� �$ ! �� ����� ���� �9�

 � ����� ���#!� ��!6'��#�� ���� � '� �#$� �$ ! �� '���� ! �� ��!��� 9 �� ���� ���!6�2

E� ��9 � '���� ��� ���!6 ��$�!� �� �� ��N�!� ��!6'��#�� ���� '���� ! �� �&���� 9 ��

��$� �9� ���� ���!6�2 	�� $���� ���!6 !� ��� � ��N�!� &��� $���� ���!6 !��� ����� 9 ��
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$���� 6���0 ����#$� �
 ��� � '�� �� �#$� �$ ! �� �� ��� � '��$ � �� ����� �$$ ���!�� �'
��)# �������  � ��� ���$�� � !�� � ��&� ����  ������2 ��$� ��� ������� �	
�	�����
�� ���� =����>0 '���� ! ��#���$ � =��$ �> ��� ��� � '��$ !�!6�� $ =������> ��� �$�����2
	�� ���6 ������ ��$ � =���� ���  � �#���)#��� �$���>  � ��� !�������� �� ��� ��#���$
� !���� � �' � ��#�� &�� (�� ��2
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*� � ,�8 "�5 ��� ��9�� ���� 8+ 
�� � ��2 E� (��� ��)# �� � ��� 4��� !���'�  �

��� $���� ���!6 !��� ����� 9� !� ��&� ��� ���� ���� �#��� �� ��� ��!�����#!��� ��'

�  � ����� �� �$ � ���� ��!6'��#�� ���� ��#�!��  � 9� !� ��� ��' ��!�����#!� �� ���

��!�����#!��� � ��6� �2 	� � ��)# ������ �$�� ��N�!�� ��!6'��#��  � 9� !� ��� ��' �

��� ���� �#!!����#$$� ��!�����#!��� �#� !���'�� ���� !$�� ���� ��� ����� �� � ��&�

��!���� ����!� �� ��� ��!�����#!� �� �� � $���� ���!62 E� ��/� ��)# �� ���� ����� ��

�/�!�$� �9� $���� ���!6 !��� ����� �� ��� � '��$ � ��2 ��� � �$�� �� ��� � '��$ � ��

!���'�  � ��� $���� ���!6�0 ��� � '#�� -2-2

�� �� � ���'�  � ��� ���$�� � !�� �0 ���� �� ��� ���� � �' '���� ! ��#���$ � �����

���$� ����$� �� ' �����  � 
 � ��1=� ��7> ��!��� 9 �� � � �#!!����#$$� ��!��I

���#!��� ���  ��$���� ��' �2 	�������� 9� &��� �&����  � 9� !� � !���'�� �� ��#���$

6���  � ����!��� ��� ��!�����#!��� �� � $���� 6���0 ����#$� �
 �� � '�� ��2 ���

� '#�� -2- ��� !��� ���� 6��� �#$� �$ ! � ��2 �� �#!� ��!6'��#�� !��!��� �&����0 ��6�

��# ��#'���� ������� 9 $$ �/� � � �� ��������� �#� �� ��� ����� !��� ���#�� ��

����'� �&� $��$� �� ��� 1� 7� ����� � �� 9� !�  � ��� �����&��  � ��� � '��$ ��!��2

	�� ��#��$ ���9��6 ���!� ��� ��$�9  � ���� � &� �� !����$�� ��� ���9��� !��� ����

�������2

	�� �/ ����!� �� ��� ��#���$ ����'� 9� !�  � ��� ��!�����#!���  � � ��#���$ � ��

���� ��� � '��$ ��# �� � ��  � ��� ��!�����#!��� ��' �  � � �����'  �� !�� �� ����

#���!�����#!��� ��#���$ � ��� ��� �������2 	�������� 9� ��)# �� ���� ��� ����$ ����'�

 � �$$ !��� �����  � ��� $���� ������ $ ��0 $��� ��� ����$ ����'�  � �$$ !��� �����  �
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�� ��� ���� � �$�2

� �!� ��� � '��$ ��!��  � ��� �/��!��� �� �� �����&��  � ��� ���� ����� #��$ �� �'0

��� ���!��#�� ��� �����$ �� �' �� #���� $ � � �� ��� ����!� �' ��� � �=�� � ����>
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��� �#���� �� ���� �&���� ���� � �' ����� ��� �����$�!� �� ��� ��� �/��!��� �Æ! ��!�

������ ��� ���� ��� '���� ! ��#���$ � � �#$�� �� ����$�2 	�� ��!6'��#�� �/��!I

��� ��  � ���� ��� �� �#$� �$� �' ��� ��#���$ � � �#$�� �� �Æ! ��!� =����#��� 9 ��

�����!� �� ��� � �$� ����� �����$�!� ��> ���� ���  � !�$#�� �9�0 $��� ��9  � 	��$� H280

�� ��� ���� � �$� ����� �����$�!� �� ���� ���  � !�$#�� �����0 (��� ��9  � 	��$� H282

	�� ����� �� ���� �Æ! ��!� ��� ���� � �$� �����'���� ����#'� �� ��� ����� �� ���

�/��!��� ��!6'��#�� �2

	�� � '��$ �Æ! ��!� ���� ��� ���� ��� � '��$ '���� ! ����$�  � +��* K :�8A	,�:AC2

�� ��� ���� ���$�4��0 ���#� �' ��� �������� ����$ ����!� �' ��� � �� � ����0 9�

�/��!� ,2,,,7A �&����2 	�� �/��!��� �#���� �� ��!6'��#�� �&����  �� K +J,�B	88�,2

	���� ������ �� ���  �!$#�� �������� ! ������0 9� !� ��� �������  � ��!� �� H272
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H2+2 '�&�� $	����� ����	���	

E� ���6 �� #���� $ � � �� ��� ����!� �' ��� � � ��� �� � ����2 	�� �#���� ��

���� �&���� 9� �����&� �����  ���� �' �$$ ��)# �������  � ��� ���$�� � !�� �  �

, K � "� �"�+��* P� =H2H>

9����  "� �"�  � ��� ��' � � �$�0 +��*  � ��� � '��$ �Æ! ��!� ��� �  � ��� �/��!���

��!6'��#��2 �� � � �'$� �����&�� �� �� ,��� �&����  � ����0 ��� ������ ��� �� �� �  �

!���$ !���� �� ��� "�#�� �� @#!�#�� ���  �  "� �"� 0 +��* ��� � �� 9�$$ �� ��� �� ����

@#!�#�� �� �� ,2

	� ���� � ��� B,C !��(���!� $�&�$ #���� $ � � ���
�� �� ��� ����!� �' ��� � �0 9�

������ �� ��� !��������� �' #���� $ � � ,���� �� ��� �#���� �� �����&�� �&����

,���� K ���
�� "� �"�+��* P� =H2A>

9���� , ��$$�9� � �� ���� � ��� �#� ��2 E� �� �� �� (�� �' ���
�� �#!� ����

+�
��
+��

/ =,[,���� > K ,�8 =H2J>

9���� / =,[,���� >  � ��� �� ���� � ��� �#� �� 9 �� ���� ,���� 2 �)# &�$���$�0 9� ���6 ���

����!� �' ��� � � �#!� ���� ��� ���!� �� �� �&���� '�������� �!!��� �' �� ��� �� ����
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� ��� �#� �� 9 �� , � ,���  � ��$� 8,C2 ��!� �� � �)#�� �� ��$�� ��� ���
�� 0 9� !�� �#$�

�#� �� ��� B,C !��(���!� $�&�$ ��� �������� � ���� � � ���
�� 2

E� ��$$�9 ��� ������!� ��6��  � LHBM ��� LA,M ���  ��' ��  �9� �/��� �����  �

9� !�  "� �"� 0 +��*0 � ��� , @#!�#��� �!!��� �' �� ��� � ������ � ��� �#� ���2 E� (���

(/ � $�9 �������� � �� ��� ��� ����!� �' ��� �2 	��� ��� ��!� �/��� ����0 9� ����$�3

V "� �"� � �= "� �"� � ÆA�� 	�� > =H2B>

V+��* � �=+��*� Æ����> =H28,>

V� � �=�� Æ"> =H288>

V, � / =��
V "� �"�V+��* P V�> =H28+>

9���� �=�� ->  � � "�#�� �� � ��� �#� �� 9 �� ���� � ��� �������� ��& �� �� -0 ���

/ =�>  � � �� ���� � ��� �#� �� 9 �� ���� �2

�����  �9� �#!� �/��� �����0 ��� ���!� �� �� �/��� ����� ��� 9� !� V, � ,���  �

!�$!#$����2 ��  �  � $��'�� ���� 8,C0 ��� �������� � ��  �  �!������ ��� �������  �9�

�/��� ����� ��� !��� �� �#�2 	�� ���!��#�� ������� #�� $ ��� ���!� �� �� �/��� �����

9 �� V, � ,���  �0 �� 9 �� � � ���$$ ��$����!�0 8,C2

�� ���#$� �� ����� ���� LA,M � �!#���� ����� � G����� !��&��� ��� ��� ����$ �'

���������� ���� ������ � ��� �#� ���0 � �� �'# ���� �� � �� �!� ���	� ����
���	��3

���� �� ��#� �� ��� � '�$���0 ��� ����� ���� �� !� E��6 �' "��#� ��� *�G� ��2 	��

�� �� ���#��� �� #��� ����  � ��� ���#��$ ��� �� ��#� �� ��� � '�$��� LHBM2
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�� ��� �� �� ���#��� �� �� ��#� �� ��� � '�$���0 �$$ ����������  "� �"� 0 +��*0 �0

��� ,��� ��� �$$�9�� �� @#!�#��� �!!��� �' �� ��� � ������ � ��� �#� ��� 9 �� ��� �

�9� 9 ����2 �� !�������0 ��� �� �� ���#��� ��� �� ��� ����� ���� �� !� E��6 �'

"��#� ��� *�G� �� ���#��� ���� ��� ��� � �� �9� �����$$� � ��� �#��� ����������

 � �$�� �����$$� � ��� �#���0 9 �� � 9 ��� ���� ��� �� !��� � �' ��� 9 ���� �� ���

�9� ������ � ��� �#� ���2 	� � �$$�9��!�  � #���� ���$�2 � �!� ��!� �� �� ���#��� ��

' &�� � �$ '��$� � G����� ���#$� ��� ���
�� 0 ��� � �� �!� ��  �  ��������2

H272 $
��	&���� "�����

��&���$ ��#�!�� �� �������� ! ����� �G�!� ��� ��#� )#��� � �� = "� �"� 0 +��*0 � ���

,���> 9� !� 9 $$ ������ �� ��� �/��!��� $ � � �� �=�� � ����>2 	�� ��$�� &� ���I

����� ! ����� �� ��� ��' � � �$�  � ��� ����� �� !����� �' ��� ��' � � �$� 9 �� �

��#� ��'#� (� �� ��� � �$� ���� ��� 9 �� ��� � �#$�� �� ����$��2 	��� !����� ���0

����  � ��!� �� -27270 � �$�� ÆA�� 	��� "� �"� K 8�7C

	9� �������� ! ������ �G�!� �$$ ��#� &�$#��3 � �#$�� �� ���� �� !�$ ����� ��� (�

��������� �����2 	���� ������ ��&� ���� � �!#����  � � ���& �#� ��!� ��2 �����

��#�!�� �� �������� ! ����� �G�!� ��$� ��� ����� ���$� � �#$�� �� �Æ! ��!� +��* ���

��!6'��#�� �/��!��� �� �3  > ���� !$�  ���� (!�� �� ����� ��� �� � ��� ��0   > ��#���$�

����'� ����$#� �� ��� �!�$� �����0    > ���!6 ��!�����#!� �� �Æ! ��!� ����� ���  &>

���� � �' ��#���$ ����'� �����2 	�� �������� ! ������ ��� ��!�����#!� �' �� � ���
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6����)��% >O� � 6%���# �� 1��%# 6%���# 8����% 6%���# ���F *	*	5��

�� 6��� ��� P%� @���)����� ��	 ���� ���� 
��
>#� ���� @���% #� !B 	�� ��� ��� 	��
�0�� @���% #� !B 	�� ��� ��� ���
(��� @���% #� !B ��� ��� ��� ��


@+���� >����� ,���#0�%�� 	�� ��� ��� 
�	
6%���# B� �� ����# ��
 ��� ��� 	�	
=�� 1%�� >Æ %�� � ��� ��� ��� ���

,�)�%�%�� @+���� >����� ���� ���� ���� ����

=���# >���� �
�
 ���� ���� �
��

	��$� H2A3 ��$�� &� �������� ! ������ Æ��+ = � C> ��� ��� � '��$ !�!6�� $ �Æ! ��!�0
� '��$ '���� ! �Æ! ��!� ��� '���� ! ��#���$ � �Æ! ��!�2 ��$#�� �����  �� !���� ���
$��'�� �� ��� �9� � '��$ �������� ! ������2

��  � ��� � '�� �$�!����0 � '�� �#�� ��� $���� 6��� $ ��� ��� ���� ��� �� !����� �'

��� �Æ! ��! �� ������ ��� ����� ��� baseClass 6 $$ �' �9 �!��� -pe0 -pm ��� -pk

9��� ���$���� ��� !�$!#$�� �' ��� ��$�� &� � G����!�  � �Æ! ��!�2 	���� �9 �!���

#�� ��� �Æ! ��!� ���$�� '�������� �� ��� ���� !$�  ���� (!�� �� '��#� �� ��N#�� ���

� �#$�� �� �Æ! ��! �� #� �' ���� !�����$ ����$� �Æ! ��! ��2 	�� $����� ���$�� 9���

'�������� �����  ���� �' � $���� 6��� &���2

� � $��$�0 ��� �������� ! ����� ��� ��#���$� ��!�����#!� �� 9�� ���� ��� �� !��I

��� �' ��� �Æ! ��! �� ������ ��� ����� ��� �9 �!� -SN 9�� ���$����2 	� � �9 �!�

����$�� ��� ����� �' ��� �!�$ �' �� ������ ����' �� �� ���!� ��� ���������!�  �

���� !�����$ ����$��2 � �!� 9� ��$� ���$�� �Æ! ��! �� ��$�� &� �� ��� ��' � � �$�  �

����� ���$� � �#$�� ��0 ��� ��' � �� ���!6� !���� �#�� �� �������� ! �����2 ��� �9�

� '��$ � �� ���!6�0 9� ��6� ��� ���!6 ��!�����#!� �� ����� �� �� �9 !� ��� � �'$� ���!6

�������� ! ����� 8�7C ��!�������� �� ��� +,,: ����� ���!6 �' ���6 ���!�2
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�� �� �! �$�0 �$$ ��!6'��#�� �������� ! � ���� ��&� ���� !����!��� ��� 9 �� ���

����!� ��� � �#$�� �� !����!� ���2 ��� ��& �� ��� ���� ��� � �#$�� �� �/��!��� ���

���0  � �� �! �$�0 �#� �� ���� �� !�$ @#!�#�� ���2 �#�  �  � �#���!��� ���� ��� ����$ �'

�� ��!6'��#�� � ��  � ��� ��� ������$�  �����#!�� � �������� ! � �� �� ��� ��� �#�$

��#���$ ����'� ����#��� ����� 9� !� ��� ��� ��� ���� �!!�#���� ���2

	�� �������� ! ����� �#� �� ��� ���� � �' ��#���$ ����'� 9� ��� &� ���� ��� �/���

�
 !�����$ ����$�2 E� $� ��� � G����!� ���9��� ��� '���� ! ��#���$ � � �#$�� ��

�/��!��� �� ��� ���� �����&�� �� !�#$� �� ��6�� �� �� ��� ���� �� ��� ����� �#� ��

��� '���� ! ��#���$ � ���� � �' ��#���$ ����'� �������� !0 � ���� �� !�$ @#!�#�� ��  �

��� !�����$ ����$� � �$� ��� � ����� ��� ����#��2 ��� �' ���� � �#$�� �� ��� ����

� �$�� �'��� 9�$$ 9 �� � �����0 9� ��6� � �$ '��$� ���� !�����&�� &� ��� ���� �� ���

#���� '��� ��#���$ ����'� ����� �� �� ��� ���� !�����$ ����$� � �$� ����� =���� �� !�$

��� (�> �����  � )#�����#�� 9 �� ��� � �#$�� �� !�����$ ����$� � �$� ����� =���� �� !�$

��� (�>2 E� �/��!� �� � ����� �� �� �� ��� ���� ��'� �#�� ��� ��� � '��$ � �#$�� ��

�Æ! ��!�0 ��� �� ��� '� ��� ���� ����� �� ��� � '��$ �Æ! ��!�2

	�� ������ ��� ����� �' ��� ����� �� ��� !�����$ ����$� � �$�0 ������ ���� ���

!�����$ ����$� � �$� � �!�����!�0  � �� ��$$�9�2 � �!� ��� �������� ! � ���� ���� ��
0

��#���$� ��� ���!6 �' ��&� �$$ ���� !����!��� ��� 9 �� ��� �������� ����!� �� ���0

9� ��$ �&� ���� ��� ��$� ���� � �' ������� �� !�$ ������ 9�� ��� �� !�����$ ����$�

���#$� ��� !����!�$� ���� !� ��� ���� !�����$ ����$� � �$�  � ��� ��!6'��#�� � � ���I

�$ �'  � ��� ���0 9� !�  �����#!�� � � ��  � ��� ��� �#�$ ��#���$ ����'� � ��� �#� ��2
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�#� ����� ��� �' ���� ��� �� ��� ���� !�����$ ����$� � �$�� �'��� &��� 9�$$0 9� ��&�

�� �!6��9$��'� ���� � ���� �� !�$ @#!�#�� �� ��� ��&� ���� ��� �'������� ���� ��I

� (! �$$� '���2 	�� #�!���� ��� �� ��� � �$� ' &�� #� � ����#�� �� ��9 $��'� ��� � �$�

� �!�����!� �#� �� ��� ��� �#�$ ��#���$ ����'� ����$ �' � '�� �� 9� $� �$$�9 �' ���

� ���� �� !�$ @#!�#�� ��  � ���� �� �� �� ����2

	�� ��$� 9�� �� ��!�#�$� ���� �� !�$ �G�!�� ���� ��� ����#�� �� ��� ��#���$ ��I

��'� � ��  � �� ��� ���� ��� ��'� �#�� �� ��� ���� �� !�$ �G�!�� ��� �#����� ����0

 � ��� 9���� !��� �!���� �0 � ���� �� !�$ @#!�#�� �� ��� ��� ��$� !���������� ��� ���

� �!�����!� �#� �� ��� �#�$ ��#���$ ����'� � ��2 �� ���� !���0 ��� ��� �#�$ ��#���$

����'� � ��  � �� ��� ���� ��'� �#�� �� ��� ���� �� !�$ @#!�#�� ��2 ��  � ��� 9����

!��� �!���� � ���#��� �� 9� !� ��6�� �#� ��� ���� !�����&�� &�2

� (��$ �������� ! ����� �G�!�� ��$� ��� � '��$ �Æ! ��!� +��*2 	� � � '��$ ��!��

�������� !  � �#� �� � ��  � ��� � '��$ ����� ���$� � �#$�� �� �� ��� � '��$ � ��I

!�� �� � ��# �� �2 	�� !����$�� ��� ���9��� ��# ��#'���� ������� ��� #��� ���

��#��$ ���9��6 ���$�� �0 ��� &�� �� ��� ���9��� ��!�� ����$� !�� �� ��� �����2 ��

����� �� ���� � ��  ���������� ��� �� � ��# ��!�� 6 ����� ! ����������0 9� #��� ���

� �#$�� �� ��!6�'� 	�#�$� L:-M2

%� �' 	�#�$�0 8,
 �&���� 9��� '��������  � 9� !� � ���� �� � 9 �� ����� �� ��I

$ ! � �� ��� ��� ��)# � �� ������#� ��� � ��# � ��!��2 ��� ��!� � '��$ � �#$�� ��

�&���0 ��� �&�"�� ��# ��#'���� ������� ��� ������$�� ���� ��� 	�#�$� � ��� �#� ��

����� �� ��#� �&�"�� ��# ��!�� �����2 	�� ������� ��� ������� ���� ��� � �����
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��!6 �� ��� ����!��� ����� �� &�� �� ���� ���� ��� 9 �� � ��� ����!��� �!!�����!�2 ��

���� ���0 ��� ��# ��#'����� ��� ������� ��!6 �� ��� � ����� 9 �� ��� ���� �������I

��� ��� '��� �� ���� !$�  ���� (!�� ��2 � ��$$�0 ��� ��#'���� ������� ��� �������

�� 8�+C0  � �!!��� 9 �� ��� ������#� ����$#� ��  � �&�"�� ��� ��� �#$$ ����!���
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�� � ���� ��� �� �� '������ ��3 �=�� � ����> � +�A � 8,�� �� ��� B,C !��(���!�
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��� $������  � ��� �� �� '������ ��2 �� ��� $����)#��6 ���� �!�$�  � $ '��0 ���#�� 8,,
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���� ���$$  ����&����� �� ��� #���� $ � � � '�� �� ���� �� �����2 E ��

'������ $#� ��� ��0 ��� ����� �� ��� !�����$ ����$� � �!�����!� 9 $$ �� ���#!��2 	�#�

��� �������� ! ����� �� ��� ��� �#�$ ������ ����'� 9 $$ �$�� �� ���#!��2 	�� �G�!�

9 $$ �� �� $�9�� ��� #���� $ � � #�� $ ��� ����� �� ��� � �!�����!� ��!���� ���$$��

���� ��� � �!�����!�  ���$� �� ��� � �!�����!�  � 4���2

�� ����� �� ���& �� � �#������ �$$� ������ #���� $ � � �� �� � ����0 ��� �9�
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�$������ &� 9�#$� ��)# �� � ���� ���! �� &����/ ����!��� �� ����#�� ��� ��# $ ��� ��
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Data Runs 1-4 & SP5/6 MC
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